Paarturnier (2) - Luzern - 30.09.2024

Rang Nr.
1. 15
2. 11
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4. 2
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8. 12
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15. 6

Ergebnis (50 % =156.0 MP)

Paar

MP

Wehrli-Wyss, Cristine — Killstrom, Curt 228.6

Kuhn, Monica — Paulon, Marianne
Kleinschmidt, Michael — Wiilti, Vreni
Smith, Craig — Nadrai, Marie-Antoinette
Briner, Maya — Filali, Renata

Steger, Johanna — Wohlgemuth, Gisela
Vital, Theres — Furrer, Ursula

Vock, Ute — Hedinger, Teresa
Schipper, Isaak — Wespi, Marlise
QOesch, Helga — Zingg, Elisabeth

Hofer, Fritz — Egli-Kessler, Ursula
Walter, Marlise — Biitler, Doris
Beylemans, Rita— Fischer, Verena
Zoller, Marion — van Exel, Wendela
Egli, Willi — Biitler, Adelbert

Turnierleitung: Isaak
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